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Intfermediate 2nd term (5x 2% = 10%)

A. Measure and write ’r‘he correct answer.
T —%, HHIEHAGEE,
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L= ningb¥xKids)
(5% 2% = 10%)
B. Look at the pattern and draw the next shape.
A—AEENEX, AE@E T AR,




(A x 2% = 18%)
C. Read the time qnd write the answers in the blanks.
IR, RAEREEAETEE.




leEning baxKies)

(6 x 2% = 12%)

D. Calculate and write the correct answer.
$—3, RIGH E BRI EE,

2 7 + | 2 =

2.
| 0O + | 5 =

3,
| 8 + | 4 =

4.
2 2 + | 8 =

5.
2 8 + | 2 =

6.
| 5 + 2 8 =



leEening baxKies)

(6 x 3% = 18%)

E. Calculate and write the correct answer.
$—3, RIGH E BRI EE,

| 2

30-17 = 42-13 =
3 4

51 -23 = 28 - |5 =
5 6

48-21 = 35-28 =



leEening baxKies)

(6 x 3% = 18%)

F. Calculate and write the correct answer.
$—3, RIGH E BRI EE,

| 2
18- 7 = 17-9 =
— 18— 1 7
—> - ]~ - Q-
| |
3 4
53 - I8 = 31-17=
— 5 3% 3 |-
—>- | 8~ —>- | 7
| |
5 6
bls - 49 = 73 - 37 =
— 6 Ll-—u' — 7/ 3—¢+
>- 4 Q- _y- 3 7>
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Q. Calculate and write the correct answer.
H—H, RIGHE By KE

- » ) »
HN has ¢..¢ has
How many _ 3’ do they have in total?
wh—x74 % o
+ =
R
They have A intotal.
RAT— 2 A e



lerning baxKiss)

(7% 1% = 7%)

H. Calculate and write the correct answer.
B—%, RIGHE L EREGEE,

How many & Ore left.
ZHTF % .
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